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NEW ATIIIars

Before enclosure, all of a village’s animals had mixed together on the
common land and bred freely. Enclosure meant that farmers could keep all
their animals in separate fields — and they could control breeding to get
bigger animals that would produce more meat or wool. Robert Bakewell,
for example, produced big fat sheep for eating on his Leicestershire farm
and the Colling brothers produced better cattle called Durham Shorthorns.
Others were soon using this idea of selective breeding to also produce
bigger pigs and better horses.

‘Having found a cow with shorter legs and a thicker body than
normal, che farmer would select a bull with shorter legs and a plump
body and mate the two. With luck the calves would be heavier in body
and shorter in leg than either parent. These calves when they grew up
would be mated with other barrel-bodied beasts until heavy, meaty

animals resulted. The same ideas were applied to pigs and sheep.’

L SOURCE H: An explanation of selective breeding, featured
in History Alive 3: 1789-1914 by Peter Moss, 1984.
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1 Look carefully at Source B.

a In your own words, list all the ways
that land was wasted under the old,
‘open-field system’.

b Which do you think wasted the most
land? Give reasons for your choice

¢ Apart from wasting valuable farmland,
what other problems did farmers have
when farming in this way?

2 aln your own words, explain what is
meant by ‘enclosure’

b Make a list of benefits that resulted
from enclosure.

¢ Can you think of some problems
resulting from enclosure?

3 a Many farmers were illiterate and
wouldn't have been able to read how
to improve their farms with new ideas
like “four-course rotation’. Produce a
poster to explain how ‘four-course
rotation’ could help farmers improve
their productivity. Limit the words on
your poster as much as you can.

b What is meant by the term
‘specialization’?

4 In your own words, explain how (and
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- FROM FARMING TO FACTORIES

New ideas
The big new farms allowed the best farmers o use new methods like the WISE-UP words

four-course rotation. This involved growing four different crops, over four enclosure
years, in four different fields. One field was used for wheat (for bread), one for
clover (which put nutrients into the soil), another field for growing barley or
oats (for beer, food or even animal food) and the final one grew turnips or
swedes (which cleaned the soil and could be used as cattle food). These crops
were swapped around the fields every year. No fields were kept fallow (as
under the old system) because the clover, the swedes and the turnips naturally
replaced the nutrients that the wheat, barley or oats had used

up... so there were bigger harvests each year. Some

areas also tried specialization (when a farmer

concentrates on - or specializes in - growing

certain crops). For example, in Kent they

specialized in producing fruit and hops,

while in Devon, cider apples were the main

product (see Source D).

four-course rotation
selective breeding
specialization
surplus

) SOURCE D:
Examples of
specialisation.

New equipment

Some farmers experimented with
bigger and better machinery, which
would have been wasted on the
narrow strips of the old system

For example, Jethro Tull, from
Berkshire, invented a seed

drill, which planted seeds
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were swapped around the fields every year. No fields were kept fallow (as
under the old system) because the clover, the swedes and the turnips naturally
replaced the nutrients that the wheat, barley or oats had used

up... so there were bigger harvests each year. Some

areas also tried specialization (when a farmer

concentrates on - or specializes in - growing

certain crops). For example, in Kent they

specialized in producing fruit and hops,

while in Devon, cider apples were the main

product (see Source D).

surplus

) SOURCE D:
Examples of
specialisation.

New equipment

Some farmers experimented with
bigger and better machinery, which
would have been wasted on the
narrow strips of the old system

For example, Jethro Tull, from
Berkshire, invented a seed

drill, which planted seeds Gl Very dichfishing
in a straight row and ¢ *ﬁJrh!erm e
buried them back over as m‘ @é '
protection against birds. &

This resulted in bigger
crops and less seed
being wasted.

‘I conversed with several
farmers. One of them said that
enclosing would ruin England.
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‘The open field farmers had been very poor and against
enclosure but are now converted. The value ofsheep’s’wool
has gone up and the price of murton has more than
doubled. There are fewer cows but the land now produces
more corn and is worth more. The poor are better )
employed. On the whole, the measure has been beneficial

. i million
. SOURCE F: Arthur Young, General View of the quarters 1700 1750

Agriculture of the County of Lincoln, 1813.

New animals

Before enclosure, all of a village’s animals had mixed together on the
common land and bred freely. Enclosure meant that farmers could keep all
their animals in separate fields — and they could control breeding to get
bigger animals that would produce more meat or wool. Robert Bakewell,
for example, produced big fat sheep for eating on his Leicestershire farm
and the Colling brothers produced better cattle called Durham Shorthorns.
Others were soon using this idea of selective breeding to also produce
bigger pigs and better horses.

‘Having found a cow with shorter legs and a thicker body than
normal, che farmer would select a bull with shorter legs and a plump
body and mate the two. With luck the calves would be heavier in body
and shorter in leg than either parent. These calves when they grew up
her barrel-bodied beasts until heavy, meaty

would be mared with otk L
i r me ideas were applied to pigs and sheep.

FROM FARMING TO FACTORIES
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1. SOURCE G: Wheat output in
England and Wales (1700-1820).
A quarter was about 12.72kg
(nearly 13 bags of sugar).
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1 Look carefully at Source B.
a In your own words, list all the ways
that land was wasted under the old,
‘open-field system’.
b Which do you think wasted the most
land? Give reasons for your choice
¢ Apart from wasting valuable farmland,
what other problems did farmers have
when farming in this way?
2 aln your own words, explain what is
meant by ‘enclosure’





